David Pearce

The Management of Demand

The aim of this essay is to explain what the management of demand means.

First of all | will examine the words “management” and “demand” separately.

Demand is the want or need or desire for a product that is backed by an ability to pay. It
is determined by a number of factors including income, tastes and the price of the
complementary and substitute goods.

The definition of management is fairly simple: the act, manner, or practice of managing;
handling, supervision, or control.

Simply put, demand management is the process of stabilising demand through
economic tools such as monetary and fiscal policy.

So who carries out demand management? The government.

If there was a shortage of demand, its up to the government to b oost it. This is achieved
through reflationary or expansionary policies.

Because it is believed that the economy can settle at equilibrium at any level of output,
active intervention to manage demand is recommended. If demand is too low they
would recommend reflationary policies to shift aggregate demand to the right as in the
diagram below. Reflationary policies could include increasing government expenditure,
reducing tax rates or reducing interest rates.
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When there was excess demand they should do the opposite. This is achieved through
deflationary or contractionary policies. This is simply the opposite of reflationary
policies. If demand is too high it is recom mended that deflationary policies should be
used to shift aggregate demand to the left as in the diagram below. Similarly to
reflationary policies, deflationary policies could include reducing government
expenditure, increasing tax rates or increasing inte rest rates.
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It could be said that the government is “fine tuning” the economy through making short -
term changes in aggregate demand.

As | said toward the beginnin g of this essay, Monetary and Fiscal policies are used to
manage demand.

Monetary policy is used by the government to change the supply of money and interest
rates to achieve desired economic policy objectives. They aim therefore to influence the
level of economic activity. The government may want to use their monetary policy to
either boost economic activity (if the economy is in a recession) or perhaps to reduce
economic activity (if the economy is growing too fast, causing inflation).

The following flow diagram shows the process clearly:

Increase in interest rates > less disposable income - less consumer expenditure -
decrease in aggregate demand -> fall in inflation

Or alternatively:

Decrease in interest rates = more disposable income - more consumer spending =
increase in aggregate demand - rise in inflation

Fiscal policy is the stance taken by government with regard to its spending or taxation
with a view to influencing the level of economic activity. An expansionary (or
reflationary) fiscal policy could mean:

Cutting levels of direct or indirect tax
Increasing government expenditure

The effect of these policies would be to encourage more spending and boost the
economy. A contractionary (or deflationary) fiscal policy could be:

Increasing taxation - either direct or indirect
Cutting government expenditure



These policies would reduce the level of demand in the economy and help to reduce
inflation.

The following flow diagram shows the process clearly:

Decrease in taxation = increase in pay packet/salary = higher disposable income
—> more consumer spending - increase in AD - increase in production

Also:

Increase in Government spending - increase in aggregate demand - fall in
unemployment - increase in production

When aggregate demand is stimulat ed through monetary and fiscal policies we have to
take into consideration that the final change is likely to be greater than the initial change
in aggregate demand. This is due to “The Multiplier”.

The multiplier is concerned with how national income chan ges as a result of a change in
an injection, for example investment. It is said that any increase in injections into the
economy (investment, government expenditure or exports) would lead to a
proportionally bigger increase in National Income. This is beca use the extra spending
would have knock-on effects creating in turn even greater spending. The size of the
multiplier would depend on the level of leakages. It can be measured by the formula
1/(1-MPC) where the MPC is the marginal propensity to consume.

The multiplier can be used to predict the impact of a change in aggregate demand on
income. The size of the multiplier is related to the decisions households take about
saving and consumption. The greater the amount of any increase in income which
households spend on consumption, the greater will be the final change in income and
therefore the size of the multiplier.

The slightest increase in aggregate demand can lead to a far more significant increase
in Income.



